



This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Sanitary Sewer Line Replacement/Repair 2012-13

PROJECT NO.: 2013.0120 BID NO.: 14-15.025

BID O	PENING		ENGINEER'S	ESTIMATE	Con-Quest Conf	tractors, Inc.	Ranger Pipeline	s Incorporated
	DATE: Monday, March 23, 2015		Date Approved:	2/25/2015	1700 Neptune D	rive	P.O. Box 24109	
	TIME: 3:00 p.m.		Prepared by:	Kyle Lei	San Leandro, C	A 94577	San Francisco,	CA 94124
	LOCATION: City Clerk's Office				Phone: (510) 9	57-1845	Phone: (415) 822-3700	
	·				Fax: (510) 957-	1870	Fax: (415) 822-	3703
ITEM								
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
BASE			<b></b>					
1	Mobilization / Demobilization	1 LS	\$60,000.00	· ·		\$82,500.00	\$35,000.00	\$35,000.00
2	Traffic Control Level 1	8 SEG	\$200.00	, ,	· ·	\$1,200.00	\$500.00	\$4,000.00
3	Traffic Control Level 2	23 SEG	\$600.00		1	\$14,950.00	\$1,000.00	
4	Traffic Control Level 3	10 SEG	\$1,000.00			\$10,000.00	\$1,500.00	\$15,000.00
5	Traffic Control Level 4	3 SEG	\$1,400.00	\$4,200.00	. ' ' 1	\$4,050.00	\$2,000.00	\$6,000.00
6	Excavation & Backfill, < 5.0' Deep	91 LF	\$110.00	\$10,010.00	\$216.00	\$19,656.00	\$300.00	\$27,300.00
7	Excavation & Backfill, 5.0' to 7.9' Deep	327 LF	\$125.00	\$40,875.00	\$267.00	\$87,309.00	\$450.00	\$147,150.00
8	Excavation & Backfill, 8.0' to 10.9' Deep	418.5 LF	\$140.00	\$58,590.00	\$318.00	\$133,083.00	\$500.00	\$209,250.00
9	Excavation & Backfill, 11.0' to 13.9' Deep	48 LF	\$160.00	\$7,680.00	\$360.00	\$17,280.00	\$550.00	\$26,400.00
10	NOT USED	0 LF	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
11	Excavation & Backfill, 17.0' to 19.9' Deep	20 LF	\$450.00	\$9,000.00	\$480.00	\$9,600.00	\$750.00	\$15,000.00
12	Excavation & Backfill, 20.0' to 22.9' Deep	22 LF	\$500.00	\$11,000.00	\$490.00	\$10,780.00	\$850.00	\$18,700.00
13	Hand Excavation and Backfill, 6.0' to 8.9' Deep	30 LF	\$500.00	\$15,000.00	\$480.00	\$14,400.00	\$750.00	\$22,500.00
14	Jet Underneath Wheelchair Ramp at 1098 Estudillo Ave and Backfill Voids with CDF	6 LF	\$900.00	\$5,400.00	\$850.00	\$5,100.00	\$1,000.00	\$6,000.00
15	6-inch VCP Replacement	125 LF	\$28.00	\$3,500.00	\$20.00	\$2,500.00	\$30.00	\$3,750.00
16	8-inch VCP Replacement	45 LF	\$32.00		\$23.00	\$1,035.00	\$35.00	\$1,575.00
17	10-inch VCP Replacement	66.5 LF	\$45.00	\$2,992.50	\$32.00	\$2,128.00	\$40.00	\$2,660.00

PROJECT TITLE: Sanitary Sewer Line Replacement/Repair 2012-13

PROJECT NO.: 2013.0120

BID NO.: 14-15.025

BID O	PENING		ENGINEER'S		Con-Quest Con		Ranger Pipeline	s Incorporated	
	DATE: Monday, March 23, 2015		Date Approved:	2/25/2015	1700 Neptune D		P.O. Box 24109		
	TIME: 3:00 p.m.		Prepared by:	Kyle Lei	San Leandro, C		San Francisco,		
	LOCATION: City Clerk's Office		• • · · · · · · · · · · · · · · · · · ·		Phone: (510) 957-1845		Phone: (415) 822-3700		
ļ			ļ	т	Fax: (510) 957-	1870	Fax: (415) 822-	3703	
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	
18	8-inch HDPE (Pipeburst)	207 LF	\$200.00			\$57,960.00	\$150.00	\$31,050.00	
19	6-inch PVC (C900) Pipeline Installation	10 LF	\$20.00		· ·		\$30.00	\$300.00	
20	8-inch PVC (C900) Pipeline Installation	646 LF	\$30.00	\$19,380.00	\$23.00	\$14,858.00	\$35.00	\$22,610.00	
21 -	12-inch PVC (C900) Pipeline Installation	10 LF	\$45.00	\$450.00	\$40.00	\$400.00	\$45.00	\$450.00	
22	12-inch Class V RCP Installation	19 LF	\$50.00	\$950.00	\$30.00	\$570.00	\$55.00	\$1,045.00	
23	Sewer Lateral Reconnection	28 EA	\$500.00	\$14,000.00	\$500.00	\$14,000.00	\$1,000.00	\$28,000.00	
24	Type A Manhole, < 5.0' Deep (with PVC Lining)	1 EA	\$7,500.00	\$7,500.00	\$7,125.00	\$7,125.00	\$5,500.00	\$5,500.00	
25	Type A Manhole, < 5.0' Deep (without PVC Lining)	5 EA	\$6,000.00	\$30,000.00	\$6,125.00	\$30,625.00	\$4,700.00	\$23,500.00	
26	Type A Manhole, 5.0' to 7.9' Deep (with PVC Lining)	3 EA	\$8,500.00	\$25,500.00	\$9,250.00	\$27,750.00	\$6,100.00	\$18,300.00	
. 27	Type A Manhole, 5.0' to 7.9' Deep (without PVC Lining)	3 EA	\$7,600.00	\$22,800.00	\$8,350.00	\$25,050.00	\$5,300.00	\$15,900.00	
28	Type A Manhole, 8.0' to 10.9' Deep (with PVC Lining)	2 EA	\$9,000.00	\$18,000.00	\$10,500.00	\$21,000.00	\$7,500.00	\$15,000.00	
29	Type A Manhole, 8.0' to 10.9' Deep (without PVC Lining)	1 EA	\$8,000.00	\$8,000.00	\$9,425.00	\$9,425.00	\$6,700.00	\$6,700.00	
30	Type A Manhole, 11.0' to 13.9' Deep (with PVC Lining)	2 EÁ	\$11,000.00	\$22,000.00	\$11,750.00	\$23,500.00	\$15,000.00	\$30,000.00	
31	NOT USED	0 EA	\$8,500.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
32	Remove Existing Manhole and Pipe Through	2 EA	\$4,000.00	\$8,000.00	\$4,500.00	\$9,000.00	\$1,000.00	\$2,000.00	
33	NOT USED	0 EA	\$2,500.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
34	Remove Existing Pipe	18 LF	\$120.00	\$2,160.00	\$280.00	\$5,040.00	\$20.00	\$360.00	
35	Abandon and Grout Existing Pipe	81 LF	\$60.00	\$4,860.00	\$50.00	\$4,050.00	\$10.00	\$810.00	
36	Temporarily Relocate and Reinstall Metal Shed at 1252 Collier Dr	1 LS	\$2,400.00	\$2,400.00	\$4,120.00	\$4,120.00	\$3,000.00	\$3,000.00	
37	Temporarily Relocate and Reinstall Wooden Shed at 639 Martin Blvd	1 LS	\$5,000.00	\$5,000.00	\$5,150.00	\$5,150.00	\$3,000.00	\$3,000.00	
38	Expose Existing SSMH and Raise Frame & Cover to Grade	2 EA	\$1,200.00	\$2,400.00	\$1,600.00	\$3,200.00	\$800.00	\$1,600.00	

PROJECT TITLE: Sanitary Sewer Line Replacement/Repair 2012-13

PROJECT NO.: 2013.0120 BID NO.: 14-15.025

BID OPENING	3
DATE:	Monday, March 23, 2015

**TIME:** 3:00 p.m.

LOCATION: City Clerk's Office

#### **ENGINEER'S ESTIMATE**

Date Approved: 2/25/2015 Prepared by:

Kyle Lei

Con-Quest Contractors, Inc.

1700 Neptune Drive San Leandro, CA 94577

Phone: (510) 957-1845

Ranger Pipelines Incorporated

P.O. Box 24109

San Francisco, CA 94124 Phone: (415) 822-3700

	LOCATION: City Clerk's Office				Phone: (510) 957-1845		Phone: (415) 622-3700		
	:	Fax:		Fax: (510) 957-	1870	Fax: (415) 822-	3703		
TEM NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	
39	NOT USED	0 EA	\$1,200.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
40	Replace Manhole Frame & Cover with City-Furnished Composite Manhole Frame & Cover	7 EA	\$1,200.00	\$8,400.00	\$1,100.00	\$7,700.00	\$800.00	\$5,600.00	
41	4' x 5' Vault Cover and Frame	1 EA	\$3,000.00	\$3,000.00	\$4,400.00	\$4,400.00	\$6,500.00	\$6,500.00	
42	4' x 7' Vault Cover and Frame	3 EA	\$3,500.00	\$10,500.00	\$5,000.00	\$15,000.00	\$7,000.00	\$21,000.00	
43	Re-channel Sanitary Sewer Manhole	2 EA	\$1,600.00	\$3,200.00	\$1,500.00	\$3,000.00	\$800.00	\$1,600.00	
44	Abandon SDMH per Sheet 9	1 LS	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00	\$1,500.00	\$1,500.00	
45	Sanitary Sewer Crossing per City Standard Plan No. 304	2 EA	\$1,500.00	\$3,000.00		\$800.00	\$1,500.00	\$3,000.00	
46	6-inch HMA Resurfacing per City Standard Plan No. 122C	1894 SF	\$16.00	\$30,304.00	\$14.00	\$26,516.00	\$7.50	\$14,205.00	
47	9-inch HMA Resurfacing per City Standard Plan No. 122C	1398 SF	\$19.00	\$26,562.00	\$17.00	\$23,766.00	\$11.00	\$15,378.00	
48	12-inch HMA Resurfacing per City Standard Plan No. 122C	92 SF	\$23.00	\$2,116.00	\$24.00	\$2,208.00	\$15.00	\$1,380.00	
49	Curb and Gutter per City Standard Plan No. 100	6 LF	\$80.00	\$480.00	\$75.00	\$450.00	\$65.00	\$390.00	
50	Sidewalk per City Standard Plan No. 100	56 SF	\$18.00	\$1,008.00	\$15.00	\$840.00	\$18.00	\$1,008.00	
51	6" Residential Driveway per City Standard Plan No. 102	130 SF	\$33.00	\$4,290.00	\$25.00	\$3,250.00	\$45.00	\$5,850.00	
52	Landscape Removal and Restoration	140 SF	\$20.00	\$2,800.00	. \$15.00	\$2,100.00	\$5.00	\$700.00	
53	Sheeting, Shoring and Bracing	1 LS	\$22,500.00	\$22,500.00	\$55,000.00	\$55,000.00	\$50,000.00	\$50,000.00	
54	12-inch Class I RCP Installation with Pipe Anchor per Sheet 10	1 LS	\$20,000.00	\$20,000.00	\$5,000.00	\$5,000.00	\$25,000.00	\$25,000.00	
55	M4-9aL and M4-9aR Signs per Sheet 10	1 LS	\$600.00	\$600.00	\$400.00	\$400.00	\$1,000.00	\$1,000.00	
56	Raise Two City Manhole Frame and Covers Listed on Appendix A to Adjacent Grade per City Standard Plan No. 222	1 LS	\$2,000.00	\$2,000.00	\$3,750.00	\$3,750.00	\$2,500.00	\$2,500.00	

PROJECT TITLE: Sanitary Sewer Line Replacement/Repair 2012-13

PROJECT NO.: 2013.0120 BID NO.: 14-15.025

SID O	PENING		ENGINEER'S		Con-Quest Cont	•	Ranger Pipelines	s Incorporated	
	DATE: Monday, March 23, 2015 TIME: 3:00 p.m. LOCATION: City Clerk's Office		Date Approved:		1700 Neptune D		P.O. Box 24109		
			Pi		San Leandro, CA		San Francisco, CA 94124		
					Phone: (510) 957-1845		Phone: (415) 822-3700 Fax: (415) 822-3703		
				.		Fax: (510) 957-1870		3703	
ITEM				17711 0007		ITCH 000T	LINUT COST	ITEM 000	
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	
57	Raise Nine Oro Loma Manhole Frame	1 LS	\$9,000.00	\$9,000.00	\$8,325.00	\$8,325.00	\$11,250.00	\$11,250.00	
	and Covers Listed on Appendix A to Adjacent Grade per City Standard Plan			2					
	No. 222	•						: * *	
			<u> </u>	4040.047.50	. ·	**************************************		#040 274 O	
	. 10	TAL BASE BID:		\$642,347.50	,	\$844,589.00		\$940,271.00	
DDITI	VE BID ITEM A								
A1	Mobilization / Demobilization	1 LS	\$10,000.00	\$10,000.00		\$30,000.00	\$10,000.00	\$10,000.0	
A2	NOT USED	0 SEG	\$200.00	\$0.00		\$0.00	\$0.00	\$0.0	
А3	Traffic Control Level 2	14 SEG	\$600.00	\$8,400.00		\$9,100.00	\$1,000.00	\$14,000.0	
A4	Traffic Control Level 3	1 SEG	\$1,000.00	\$1,000.00		\$1,000.00	\$1,500.00	\$1,500.0	
A5	Traffic Control Level 4	3 SEG	\$1,400.00	\$4,200.00	\$1,250.00	\$3,750.00	\$2,000.00	\$6,000.0	
A6	Excavation & Backfill, < 5.0' Deep	96 LF	\$110.00	\$10,560.00		\$21,120.00	\$300.00	\$28,800.0	
<b>A</b> 7	Excavation & Backfill, 5.0' to 7.9' Deep	273 LF	\$125.00	\$34,125.00	\$270.00	\$73,710.00	\$450.00	\$122,850.00	
A8	Excavation & Backfill, 8.0' to 10.9' Deep	45 LF	\$140.00	\$6,300.00	\$325.00	\$14,625.00	\$500.00	\$22,500.00	
Α9	NOT USED	0 LF	\$160.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0	
A10	NOT USED	0 LF	\$0.00	\$0.00		\$0.00	\$0.00	\$0.00	
A11	NOT USED	0 LF	\$450.00	\$0.00		\$0.00	\$0.00	\$0.00	
A12	NOT USED	0 LF	\$500.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A13	NOT USED	0 LF	\$500.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A14	NOT USED	0 LF	\$900.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0	
A15	6-inch VCP Replacement	31 LF	\$28.00	\$868.00		\$620.00	\$30.00	\$930.0	
A16	8-inch VCP Replacement	39 LF	\$32.00	\$1,248.00	\$23.00	\$897.00	\$35.00	\$1,365.0	
A17	NOT USED	0 LF	\$45.00	\$0.00		\$0.00	\$0.00	\$0.0	
A18	NOT USED	0 LF	\$200.00	\$0.00		\$0.00	\$0.00	\$0.0	
A19	6-inch PVC (C900) Pipeline Installation	89 LF	\$20.00	\$1,780.00	\$19.00	\$1,691.00	\$30.00	\$2,670.0	
A20	8-inch PVC (C900) Pipeline Installation	232 LF	\$30.00	\$6,960.00	\$23.00	\$5,336.00	\$35.00	\$8,120.0	
A21	NOT USED	0 LF	\$45.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0	
A22	NOT USED	0 LF	\$50.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0	
A23	Sewer Lateral Reconnection	11 EA	\$500.00	\$5,500.00	\$500.00	\$5,500.00	\$1,000.00	\$11,000.00	

PROJECT TITLE: Sanitary Sewer Line Replacement/Repair 2012-13

PROJECT NO.: 2013.0120 BID NO.: 14-15.025

**BID OPENING** 

DATE: Monday, March 23, 2015

TIME: 3:00 p.m.

LOCATION: City Clerk's Office

ENGINEER'S ESTIMATE

Date Approved: 2/25/2015 Prepared by:

Kyle Lei

Con-Quest Contractors, Inc.

1700 Neptune Drive

San Leandro, CA 94577 Phone: (510) 957-1845

Ranger Pipelines Incorporated

P.O. Box 24109

San Francisco, CA 94124

Phone: (415) 822-3700

	LOCATION: City Clerk's Office			·	Phone: (510) 957-1845		Phone: (415) 822-3700		
					Fax: (510) 957-	1870	Fax: (415) 822-3703		
ITEM NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	
A24	NOT USED	0 EA	\$7,500.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A25	Type A Manhole, < 5.0' Deep (without PVC Lining)	1 EA	\$6,000.00	\$6,000.00	\$6,125.00	\$6,125.00	\$5,300.00	\$5,300.00	
A26	Type A Manhole, 5.0' to 7.9' Deep (with PVC Lining)	1 EA	\$8,500.00	\$8,500.00	\$9,250.00	\$9,250.00	\$6,100.00	\$6,100.00	
A27	NOT USED	0 EA	\$7,600.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A28	Type A Manhole, 8.0' to 10.9' Deep (with PVC Lining)	3 EA	\$9,000.00	\$27,000.00	\$10,500.00	\$31,500.00	\$7,500.00	\$22,500.00	
A29	NOT USED	0 EA	\$8,000.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A30	NOT USED	0 EA	\$11,000.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A31	Type A Manhole, 11.0' to 13.9' Deep (without PVC Lining)	1 EA	\$8,500.00	\$8,500.00	\$9,425.00	\$9,425.00	\$13,000.00	\$13,000.00	
A32	NOT USED	0 EA	\$4,000.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A33	Remove Existing Cleanout and Pipe Through	2 EA	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	\$1,000.00	\$2,000.00	
A34	NOT USED	· 0 LF	\$125,060.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A35	NOT USED	0 LF	\$2,400.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A36	NOT USED	0 LS	\$5,000.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A37	NOT USED	0 LS	\$1,200.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A38	NOT USED	0 EA	\$1,200.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A39	Replace Manhole Frame & Cover with Metal Manhole Frame & Cover	2 EA	\$1,200.00	\$2,400.00	\$1,500.00	\$3,000.00	\$800.00	\$1,600.00	
A40	NOT USED	0 EA	\$1,200.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A41	NOT USED	0 EA	\$3,000.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A42	NOT USED	0 EA	\$3,500.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A43	Re-channel Sanitary Sewer Manhole	4 EA	\$1,600.00	\$6,400.00	\$1,250.00	\$5,000.00	\$1,000.00	\$4,000.00	
A44	NOT USED	0 LS	\$2,500.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A45	NOT USED	0 EA	\$1,500.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A46	6-inch HMA Resurfacing per City Standard Plan No. 122C	1648 SF	\$16.00	\$26,368.00	\$14.00	\$23,072.00	\$7.50	\$12,360.00	
A47	NOT USED	0 SF	\$19.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A48	NOT USED	0 SF	\$23.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A49	NOT USED	0 LF	\$80.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A50	NOT USED	0 SF	\$18.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A51	NOT USED	0 SF	\$33.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	

PROJECT TITLE: Sanitary Sewer Line Replacement/Repair 2012-13

PROJECT NO.: 2013.0120 BID NO.: 14-15.025

BID O	PENING	14-15.025	ENGINEER'S	STIMATE	Con-Quest Cont	ractors, Inc.	Ranger Pipeline	s Incorporated	
	DATE: Monday, March 23, 2015		Date Approved:	2/25/2015	1700 Neptune Drive P.O. Box		P.O. Box 24109	O. Box 24109	
TIME: 3:00 p.m.			Prepared by:	Kyle Lei	San Leandro, CA 94577 San Fra		San Francisco, (	Francisco, CA 94124	
	LOCATION: City Clerk's Office				Phone: (510) 9	57-1845	Phone: (415) 82	2-3700	
					Fax: (510) 957-	1870 .	Fax: (415) 822-	3703	
ITEM									
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	
A52	NOT USED	0 SF	\$20.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
A53	Sheeting, Shoring and Bracing	1 LS	\$7,500.00	\$7,500.00	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	
A54	NOT USED	0 EA	\$81.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
TOTAL ADDITIVE BID ITEM A				\$188,609.00		\$269,721.00	**	\$311,595.00	
	тс	OTAL BASE BID:		\$642,347.50	\$844,589.00		\$940,271.00		
ADJUSTMENT FOR LOCAL INCLUSION POLICY						(\$50,000.00)		\$0.00	
	ADJUSTED BASE BID FOR BA	SIS OF AWARD:		- <del> </del>		\$794,589.00		\$940,271.00	
	TOTAL BASE BID + ADDIT	IVE BID ITEM A:		\$830,956.50		\$1,114,310.00		\$1,251,866.00	
		SUBCO	NTRACTORS:		None		None		
		ITIES:		10% Bid Bond		10% Bid Bond			

Reviewed by: